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TS - 7 : HUMAN RESOURCE DEVELOPMENT

Time

: 3 hours Maximum Marks : 100

Note: (i) Attempt any five questions in about 600 words.

(i) All questions carry equal marks.

TS-7

Discuss the importance of manpower planning
and forecasting exercise in tourism and hospitality

industry. 10+10=20

What is the need of computerisation of Personnel
Record System in an organisation ? Critically
examine its advantages and disadvantages with

regard to manual system of record keeping.
' 6+7+7=20

What do you understand by Human Resource 20
Accounting System ? Describe the different
phases in designing and implementing such a
system in an organisation.

What is the need of Job Evaluation ? What are
the methods used for Job Evaluation ? 10+10=20
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Write short notes : 4x5=20
(a) Task Analysis

(b) Promotion Policy

(c) Skills of a counsellor

(d) Job Description

Devise a career plan for a management traineein 29
a leading tour operation or hospitality
organisation.

Define Grievance. What are the reasons for the
occurrence of grievances ? What are the steps in
Grievance Handling ? 4+10+6=20

What do you understand by motivation ? Discuss
any two theories of motivation. 6+14=20

What do you understand by induction process ?
What are the major points of consideration for
the designing of an induction programme ? 10+10=20

Write short notes on any two : 2x10=20
(@) Training Methods
(b) Selection Process

(c) Gender issues in Tourism and Hospitality
Industry
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Wi ue anfaea sem o syt FrisA q@ gaigae
I ¥ Hed R faur s 10+10=20

frdt deen & wHER sfeE-a = & HEFEAHT
F T AavEaEd v 2 HeE s &
TH B 1 SESTS AT i | 6+7+7=20

e GO AEFI IS A AN A 2 T 20
e & foru 39 YR &t ugfa & fmie wd e
&+ fafim =z a1 faeror ifsa)

ASTIR Eich Sl 1 STATIhdl & 7 ASTIR-Teieh
¥ fou form wgfodl 1 s R ST 82 10+10=20
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wifrw feoaforr fafe - 4x5=20
(a) rE-faveram

(b) wR=fa-HAfa

(c) T JUHSISHEI & hivrel

(d) wE-faarm

fereit 9 Seer Heen A stifaey e | yeiuA aikg 20
F HRE & A H TRET A HifC |

‘Rrepraa’ @t aftfia St fieereei & 99 % T
RO ¥ ? ferd - Fremo s add §2 4+10+6=20

SRR | 39 N T &2 AR g e
3 fagral st w=i Hifsw) 6+14=20

‘TeRm-ufEar’ @ a9 F guz@ €2 fedt
S HwA iU} & A 9ra v fog a1

q%? 10+10=20
fordl S W dferw feufort fafan . 2x10=20
(a) wf¥reror wfsmamd

(b) TII-FHA

() e T anfae v F e qg



	Page 1
	Page 2
	Page 3
	Page 4

